SEE U-BAR NOTE ON SHEET

_ i REVISIONS:
2 FOR U—-BAR INSTALLATION

HOTES:

1. NON-IMPACT RESISTANT GLAZING. (DETAIL H). -
080" MINIMUM SS8 GLAZING IN MOLDED FRAMES .
SCREWED TOGETHER WATH A MINIMUM OF (10} .#Bxi"
SCREWS ({3} ALONG EACH HORIZONTAL LEG AND (2}
ALONG EACH VERTICAL _.mnu FOR GLAZING WTH A
MAXIMUM LENGTH OF 38" INSTALLED IN TOP OR
INTERMEDIATE SECTION {WITH OR WITHOUT DECORATIVE
INSERTS) MEETS UNIFORM STATIC DESIGN PRESSURES
SHOWN ON. THIS DRAWING. GLAZING SHALL HAVE A:
MAXIMUM HEIGHT OF 13.75". GLAZING IS NOT IMPACT
RESISTANT AND DOES HOT MEET THE REQUIREMENTS
FOR WIND-BORNE DEBRIS REGIONS, SEE DETAIL. H ON
‘SHEET 2 FOR ASSEMELY OETAILS.

2. IMPACT RESISTANT GLAZING (DETAIL K) — IMPACT'
RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN TOP
OR INTERMEOIATE SECTION (WITH OR WITHOUT
DECORATIVE INSERTS). GLAZING SHALL BE 1/4"
MAKROLON~AR POLYCARBONATE OR EQUAL: GLAZING
SHALL HAVE A MAXIMUM HEIGHT-OF 15.217 AND A
MAXIMUM LENGTH OF 50.0B" SCREWED TOGETHER WITH
A MINIUM OF (10) #8X1° SCREWS ((3 ALONG EACH
HORIZONTAL LEG AND {2) ALONG EACH VERTICAL LEG).
GLAZING IS IMPACT RESISTANT AND DOES MEET THE
REQUIREMENTS FOR WIND—BORNE DEBRIS REGIONS.
GLAZED SECTION REQUIRES REINFORCEMENT BRACKETS
ATTACHED TO U-BAR ON UPPER INTEGRAL RI8 (SEE
DETAIL G SHEET 2), 18 GA-J-STRUT SCREWED: TO
LOWER INTEGRAL RIB .OF SECTION AND OFERATOR STILE
TG BE FACTORY (NSTALLED. INSTALLER SHALL FIELD
INSTALL S 1/4—14x7/8" SELF DRILLING CRIMPTITE
SCREW TO ATTACH THE J~STRUT TO THE INTEGRAL RIB
AND OPERATOR STILE AT THE -CENTERUINE OF THE
DOOR: PER DETAIL F OM SHEET 2..

3. VINYL OR. WOOD DOOR STOP NAILED A MAXIMUM OF
6° 0.C. MUST OVERLAP TOP AND BOTH: ENDS OF
‘PANELS MINIMUM 7/16" TQ MEET NEGATIVE PRESSURES.

4 KEY LOCK OR SLIDE LOCKS REQUIRED,

B, SECTION SHALL BE CONSTRUCTED WITH FOAMED IN-
PLACE POLYURETHANE FOAM INSULATION' CHERMICALLY
BOKOED TO. 30 GA MINIMUM FACER STEEL AND A
POLYLAMINATE BACKER, OR. um GA STEEL BACKER. END
CAP TO HAVE A MINIMUM. 1.1" DEPTH.

6, THE DESIGN: OF THE SUPPORTING STRUCTURAL

13 GA HORIZ. ANGLE—,
13 GA FLAG. ANGLE—

16 GA MIN. HORIZ—|
TRACK

m\ax_l.u\m.)
LAG SCREWS
{MIN 3 AS
SHOWN}

16 GA MIN VERT—|
TRACK .

5/16x1-5/8" LAG
SCREW AT EACH
JAMB BRACKET

1/4—20x9,/18" TRACK~]
BOLT AND-1/4—20 HEX
NUT AT EACH JB. JAMB
BRACKET LOCATION

15.GA STFFENED—]
_ JAMB BRACKETS
$EE° SCHELDULE -FOR
QUANITY, LOCATION,
AND. TYPE

KEY LOCK OR -SLIDE LOCK—]
BOTH ‘ENDS (SEE NOTE 4),
SLIDE .LOCK SHOWN FOR
CLARITY

-

ey |
',‘"‘

1 REMISED

18. GA OPERATOR -STILE. FACTORY

ADHERED TO CENTER OF TOP SECTION

PERIMPOSED DESIGN
RESSURE LOADS ON

"i#2 ADDED SHORT PANEL
% IGLAZING OPTION (NOTE f)
1[6RT 6/30/08

1 iP5 ADDED iIMPACT
IRESISTANCE TO DDOR.
+'|ADDED /8 JAMB BRACKET
AT 2 LOCATION. MODIFIED
OTE 9 TO STATE THAT
OUVERS. ARE NOT IMPACT
ESISTANT.

_ e GRT /6,/07
T ‘IP4 MODIFED JAMB
e . BRACKET -SCHEDULE FOR

FAT OPTION. ADDED LHR
TRACK DETAIL SHEET 2.
GRT - 4/17 /08

PS5 ADDED IMPACT
RESISTANT GLAZING,
ADDED CONCRETE DETAIL

HEET 2. ADDED JTEXAS
CENSE NUMBER TO ‘TITLE
B1OCK, CHANGED LOUVER.
INOTE. ADDED HIGH LIFT
AND RQOF PITCH TRACK
NOTE.

GRT 7/22/08

pot
_ P6 UPDATED TITLE BLOCK.
! [GRT B/28/10
et T

07 ER31526
ADDED 9605, AND
BACKER NOTES
£SC 5/23/17

REV H — UPDATED
REVSION FROM NUMERIC
TO ALPHA -ADDED NOTES:
FOR TOI

SW 3/26,/21

ELEMENTS SHALL BE THE RESPONSIBIUTY OF THE NOTE: (4} SECTION : .
PROFESSIONAL OF RECORD: FOR THE BUILDING . OR soub DoOR sHowN. | [ | me= % [REV J — UPDATED
STRUCTURE. AND IN ACCORDANCE WTH -CLURRENT -SEE SHEET 2 FOR mm [DRAWING FOR TDI
BUILDING CODES FOR THE LOADS LISTED ON THIS U~BAR LOCATIONS ON TLC 47202
DRAWING. DOORS WITH OTHER
o . S . SECTION QUANTITIES
7. DOOR JAMB TO.BE MINIMUM 2x6 STRUCTURAL GRADE AND SEE NOTES 1
LUMBER. REFER TQ JAMB CONNECTION SUPPLEMENT AND 2 ON THIS
FOR' ATTACHMENT TO SUPFORTING STRUCTURE.” SHEET FOR oﬁ.ﬂwﬁ%
. NOTE: POST SYSTEM IS TO BE
& LOUVER OPTION (DETAL 1) — .0B" MINIMUM LOUVERS' INSTALLED -ON_THE CENTER
IN MOLDED FRAMES, 197X13,9" {DLO=15 1/2"X 10 LINE OF THE DOOR.
/2 SCREWED TOGETHER WITH A MINIMUM OF (12) SEE WINDLOAD POST
#Bx1™ SCREWS ({3) ALONG EACH ‘HORIZONTAL LEG: AND INSTALLATION INSTRUCTIONS.
(3) ALONG EACH. VERTICAL LEG). LOUVERS ARE NOT
IMPACT RESISTANT AND DO NOT MEET THE
REQUIREMENTS FOR WIND~BORNE DEBRIS REGIONS.
LOUVERS ARE ONLY INSTALLED IN THE BOTTOM
SECTION. |LOUVERED SECTION REQUIRES OPERATOR STILE — : -
T0 BE FACTORY INSTALLED AT THE. CENTERUNE OF THE - JAMB BRACKET -SCHEDULE: SUPERIMPQOSED DESIGN PRESSURE
DOOR | NO, OF [Nor b aaeE | mRack BOACKETS e ASURED, TG BOTT o LOADS ON SUPPORTING STRUCTURE
HEIGHT (SECTIONS| (eacty Jase)| 1P E OF TRACK {ALL DIMENSIONS + 2") Max [ MAX | UNFORM vci%%ﬁ.ﬂ»%ﬁ%ﬁzn
7-0"] & 5 Q2 (8% 15 (@), 25-1/2° (B), 45-174 (). 63" (4B) DOOR | poor Ef
- — - = - DTH | HEIGHT | JAMB (PLF) LOCATION (LBS)
7-0 ] 4 5 FAT [2° (JB), 10" (JB), 25-3/4" (JB), 42" (JB), 63—1/4 (JB) — o (806 /~ 20 F1615.0/ =180
B-0"| 5 6 Qi [2" {4B), 13" {Ql), 23" (4B}, 34" (J&), 47-1/4" (Q). 67" {Ql) B0 " +180.6,/~204.0 F1837.5/-0048.5
8-0] & 3 FAT 2" (JB), 10" {JB), 21=3/4" (JB); 29-3/4 {iB), 48" (JB), 66" (JB) .
> 8~0"/HIGH LIFT/ROOF PITCH SEE NOTE BELOW.
(JB) FOLLOWING DIMENSION DENOTES SLOTIED JAMB BRACKET
ATTACHED TO TRACK WITH 1/4-20%9/16" TRACK BOLT AND NUT.
(). FOLLOWING o__.._mzw_oz. DENOTES GUICK INSTALL JAMS BRACKET — — : : —— L —
(r; 4 LY TO ATTACH TO TRACK. DESIGN -(PSF): +30.20/~43.70  |MAX WDTH:  18'-0" DATE NAME
4 3 f2021 _ALL DOORS. WITH HIGH LIFT AND/OR ROOF PITCH REQUIRE USE OF TEST (PSF): +56.80,/—65.55 MAX HEIGHT:  8'—0" |DRAWN 3/3/08 GRT
A ‘ _mm._ﬁm_m_._ocm WALL ANGLE. SEE SUPPLEMENT TRACK' CHART FOR IMPAGT/CYCLIC RATED (YES/NOQ):. YES [MAX SECTION HEIGHT: 21" |CHECKED| 4/20/2021 TLC
JUNFENG QLA : GARAGE DOORS . . . . : . =
5729 AMPHORA AVE MODELS 5120 /910079605 SHEET 1 OF .3
NCKNNEY, TEXAS 75070 S 5120/9100,/¢ : ;
"TEXAS PE 130813 A o_swom__,_umom_.. @%mwm.pwm__u&nm COR DRAWING PART NQ. | REV.
PROFESSIONAL ENGNEER'S SEAL PROVCED ONLY FOR COMPLIES: WITH THE REQUIREMENTS OF I6C/iRC 2018 _amzmhmmmww aﬂ_wowm_ﬂwwo 32514 WINDLOAD SPECIFICATION OPTION CODE 0237 319025 J




13.GA ADJUSTABLE TOP
FIXTURE ATTACHED. TO
PRE—PUNCHED HOLES
iN BOTTOM OF U—BAR
WITH (2) 1 \.T.Ixm\m
CRIMPTITE SCREWS-

13 GA ROLLER SLIDE. h.._..__.b.o_._m_u T
PRE—PUNCHED HOLES IN TOP OF U~BAR
WITH (2) 1/4-14x5/8" CRIMPTITE SCREWS.
USE VIEWNG HOLE IN SUDE TO ENSURE
PROPER b_u_mz,._mz._. oF ROLLERS

75 GA HINGE ATTACHED

WTH (4} 1/4—14%5/8"
CRIMPTITE SCREWS (2 OF
WHICH ARE m>o40x<
ATTACHED)

2" NYLON
STORMGARD ROLLER
WITH 4—1/2" STEM:

18 GA HINGE ATTACHED
WTH (5) 1/4-20x5/8"
CRIMPTITE SCREWS AND (1)
1/4—14x7 /8" SELF DRILLING
CRIMPTITE SCREW (2. OF
WHICH ARE FACTORY
ATTACHED, 2 OF WHICH ARE
FIELD INSTALLED INTO TQP
LEAF, AND 1 OF WHICH (S
FIFLD INSTALLED THRU
PRE—PUNCHED HOLE.IN
U-8AR

12. GA BOTTOM BRACKET
FACTORY. ATTACHED WITH
{3) 1/4—14x5/8"
CRIMPTITE, SCRE'

FOR !MPACT RESISTANCE,
BOTTOM BRACKET MUST BE
SCREWED TO THE BOTTOM
U—BAR WITH

{2) 1/4-14x7/8" SELF
DRILLING. CRIMPTITE SCREWS.
SEE IMPACT BOTTOM BRACKET
BETAIL THIS SHEET..

DETAIL D

BRACKET AS SHOWN).

‘
[ PR ‘“
[

\\.. ...... P :............“.

\ @o m s
g m\m_.» .;;f INAL N

/35 /23|,

. JUMFENG. QAN
5729 AMPHORA AVE
MCKINNEY, TEXAS 75070
TEXAS PE 130813

PROFESSIONAL ENGINEER'S SEAL PROVIDED ORNLY FOR
VERIFICATION OF WNDLOAD CONSTRUCTION DETAILS.

PLACE U-BAR OVER INTEGRAL RiB:

WTH THE (8) PRE—FUNCHED

HOLES EACH END FACING UPWARD

AND ATTACH THRU END CAP AT

EACH END WITH (2) 1/4—14x7/8"

SELF DRILLING CRIMPTITE SCREWS
FOR_STANDARD TRACK AND (3)
1/4-14x7 /8" SELF DRILUNG
CRIMPTITE SCREWS FOR LOW

HEADROOM TRACK (2 OF WHICH

ARE USED TO ATTACHED THE TOF

PLACE U-BAR OVER INTEGRAL
RIB WITH THE (8} PRE—PUNCHED
HOLES EACH END FACING UPWARD
AND ATTACH THRU ENO CAP AT
EACH ENO WTH (2) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS
EXCERTION: " U—-BAR PLACED
OVER TOP RiB ON. THE BOTTOM
SECTION SHALL ONLY BE ”
ATTACHED THRU END CAP AT
EACH END.WITH (1) 1/4—14x7/8"
SELF. DRILING CRIMPTITE SCREW

LOCATED ON THE BOTTOM FLANGE:

OF THE U-BAR
NOTE: OUE TO_CLEARANCES
REQUIRED TO INSTALL SCREWS- AT
THE ENDS OF ‘THE U—BARS, ALL
U—BARS SHALL BE (NSTALLED ON
SECTIONS PRIOR TO INSTALLING
ROLLER SLIDES AND TOP- FIXTURE
ON THE U—BARS. SEE
ATTACHMENT NOTES ON THIS
SHEET.

FLACE U~BAR OVER INTEGRAL
RIB AND ATTACH WITH (2}
1/4-20x5/8" CRIMPTITE SCREWS
THRU. PRE—BUNCHED' HOLES AT
EACH INTERMEDIATE HINGE
LOCATION. {1 THRU ¥LANGE OF
U-BAR AND BOTTOM HINGE LEAF
AND 1.THRU WEB OF U—BAR AND

(INTEGRAL- RIB OF SEGTIQN)

EXCEPTION: AT ALL LOCATIONS

REQUIRING A STRAP BRACKET, (1)

1/4—14x7 /8" SELF DRILLING
CRIMPTITE SGREW. WILL BE USED.

—PLACE U-BAR OVER INTEGRAL RIB

WITH zo._.n_._ DOWN TO CLEAR
BOTTOM' BRACKET. AND ATTACH
THRU END CAP AT EACH ENB
WITH (1) 1/4~14x7 /8" SELF

DRILLING CRIMPTITE SCREW AS
SHOWM AND USE {1)

1/4—14x7/8" SELE¥ DRILLING
CRIMPTITE SCREW ACROSS THE
BOTIOM OF THE BOTTOM U—BAR
AT EAGH PRE—PUNCHED HOLE AT
EVERY HINGE. LOCATION. USE (1)
1/4~20x5/8™ CRIMPTITE SCREW
AT ALL OTHER PRE—PUNCHED

'HOLE LOCATIONS.

13 -GA ADJUSTABLE
TOP FIXTURE

OW _HEADROOM TRACK
DETAIL A

USED-GNLY ON IMPACT
GLAZED SECTION — 11
GA REINFORCEMENT
BRACKET ATTACHED,

(4)

{1) 1/4—14x7/8" SELF DRILLING CRIMPTITE
SCREW AT CENTER. LINE OF DOOR THRU
J-STRUT & OPERATOR BRACKET.

NOTE:.. J-STRUT & SCREW ONLY REQUIRED
mnmmﬁmmc SECTIONS. SEE NOTES t & 2

{3) u\k_.l,_.a.xq\m

3eLF DRILLING
CRIMPTITE SCREWS (1) 1/4=14x7/8" SELF
_ DRILLING CRIMPTITE
STRAP 'SCREW EACH SIDE OF 1
- STRAP BRACKET (ONLY Jpe—
J REQUIRED ON IMPACT . i
GLAZED DOOR) //
™1 ACKING 500 FSl i g e . 5
LKIN 2500 PSI MiN - '
5/16" STRAP CONCRETE 5 el k
HITCH PIN .
(2) 5/16—12x1" !
SELF DRILLING f :
SCREWS W/ 5/15 B" M B" MIN Y 1
FLAT WASHERS TURNDOWN
SLAE AT EDGE— h
N isTance| ! O i
ALUMINUM T . \ d
POST CONCRETE DETAIL

1/2-13%3~1/2"
HEX BOLT & NUT

{4} 5/16~12x1"

SELF DRILLING,. BOTTOM
SCREWS LOCK
PLATE

DETAIL G

HEADER LOCK
BRACKET

LAG SCREWS
5/16~18%2~1 /2"

3 5/16—12x17
“SELF DRILLING:
SCREWS ™

5/16x1-5 /8"

Mﬁ. Aum*_._m_\_m_wu:xu\m HEX BOLT & NUT- DETAL E oy {5) SECTION DOORS
CRIMPTITE. SCREWS (2. VS . WTH {8} 3", 18 GA,
THROUGH BOTH 80 KS) U—BARS
ERACKET AND U-BAR LOCATED OVER
) ATTACH BOTTOM BRACKET INTEGRAL RIBS AS
DETAIL J TO-BOTTOM U-BAR WiITH (2) SHOWN'

1/4=14x7/8" SELF ORILLING
CRIMPTITE SGRE (4) ‘SECTION: DOORS:
WITH (5) 37, 18 GA,
80 K3l U=BaRS
LOCATED OVER
INTEGRAL RIBS AS

o ‘/—T

IMPACT BOTTOM BRACKET

= MENT N
1. ALL. u- m»mm m_.;_._. BE PLACED OVER INTEGRAL RIBS AND
ATTACHED THRU PRE~PUNCHED HOLES WITH (2) 1/4—14i5/8"
CRIMPTITE SCREWS AT EACH INTERMEDIATE HINGE. LOGATION,
{2) t/4—14x7 /8" SELF DRILLING CRIMPTITE SCREWS AT EACH.
END CAP {EXCEPT BOTH (f~BARS ON BOTTOM SECTION — SEE .
DETAIL B- AND D THIS SHEET), (2} 1/4—14x5/87 CRIMPTITE
SCREWS APPROXIMATELY MIDWAY BETWEEN END GF DOOR AND
INTERMEDIATE HINGE LOCATION; AND {1} i/4<14x5/8"
CRIMPTITE SCREW APPROXIMATELY 8" FROM EACH END. THERE
SHALL BE .A TOTAL OF (20) SCREWS ATTACHING EACH U=BAR
EXCEPT BOTH U-BARS ON BOTIOM -SEGTION SHALL HAVE A
TOTAL OF (18) SCREWS EACH.

0ol
=

2. WITH THE EXCEPTION OF THE (8) PRE~PUNCHED HOLES: IN
THE TOP OF EACH END USED FOR ATTACHMENT OF THE
‘ROLLER SLIDES AN THE (6) PRE—PUNCHED HOLES IN THE u
BOTTOM OF EACH END USED FOR THE ATTACHMENT OF THE
TOP FIXTURE AND UNLESS NOTED OTHERWSE .ON THIS
SPECIFICATION DRAWING, ALL PRE—-PUNCHED HOLES IN -ALL
U-BARS SHALL BE ATTACHED TO THE DOOR WATH

1/4-14x5/8" CRIMPTITE SCREWS..

=

=

3. 1B GA U—BARS SHALL BE STAMPED "48" APPROMIMATELY
B" FROM EACH END.

REMISIONS

STATIC PRESSURE RATINGS APPROVED SIZES SCALE: N.T.S. SIZE: A
Em<—.— e DESIGN (PSF): __ +39.20/-43.70  |MAX WIDTH:  18'-0" DATE NAME
U _.ﬂ » TEST (PSF): +58.80/-65.55 MAX HEIGHT:  8&'-0" DRAWN -3/3/06 GRT
Q . _A e _mm_u 3 OOW@ m. {IMPACT/CYCUC RATED (YES/NO): YES |MAX SECTION HEIGHT: 21™|CHECKED| 4,/20/2021 TLC
MODELS 5120/9100/9605. SHEET 2 OF .3
A n._sm_ow_u %m_.. _@%m%»mw_cm% L DRAWING-PART NO. | REV.
vmzm_ﬂmm% JTLORIDA 32514 WINDLOAD SPECIFICATION OPTION COBE 0237 319025 J




#Bx3 /4 4" MiN m._.ZZ_..mmm

.09G" AMNEALED SSB

REVISIONS

R ST T T ‘GLASS (M)
» & ’ - NON—STRUCTURAL DECORATIVE - T . .
3—i/2" 0.C. MaX |||vA. OUTER WINDOW TRIM e /1 //
v o —— S 174" POLYCARBONATE
Gees /0 oagmy R / T
SSG4000AC - ‘ : = / |
STRUGTURAL P R AR ' "
SEALANT OR == _////J :
EQUIVALENT- ) _ _ N d
= e 1/8" BEAD OF BOSTICK, .
FACER STEEL = : 1100 OR EQUIVALENT '
= i/ /
’— L“ \\ s
_ ] !
N v /
DECORATIVE INNER | e i
WNDOW TRIM Tt T MOLDED FRANME .. . \
IMPACT FRAME —
DETAL K .zozlﬂznbo.._,. Mu_.)m._.._o FRAME
(STATIC RATED)
DETAIL H
080" ?___zu ALUMINUM
_.chﬁm
—— INTERIOR FRAME
#B—%" SELF—TAPPING
EXTERIOR CREW
FRAME
PLASTIC FRAME
NON-IMPACT VER
S (STATIC RATED)
Fohiienty
~ S U
Fe e e
ZxILLLN vxy
7. JUNFENG QIAN 7
X 130813 H -z
W d o
" s Heenst 7
@@oz >wm.$nw.tl._n . STATIC PRESSURE RATINGS 'APPROVED -SIZES  |SCALE: N.T.S. SIZE: A
crs_ ) Q_ G :I/rc?f Em<=m DESIGN (PSF): +39.20/-4370  |MAX WOTH:  18'—0" DATE. NAME
_ - ] U __n TJEST (PSF): +58.80,/-65.55 MAX HEIGKT:  8'—0"  [ORAWN 3/3/06 GRT
\\wo\ Ao . Mk e mmuomom—mu; IMPACT/CYCLIC RATED (YES/ND): YES |MAX SECTION HEIGHT: 21" |CHECKED| 4/20/2021 e
RINFENG QAN - . .
MOIRNEY, TEXAS. 75670 _ B o MODELS 5120/9100/9605 SHEET 3 OF 3.
PTEXAS PE 130813  DIVSON OF OVERHEADDOOR. CORY DRAWING PART NO. | REV.
R B S i e eansacols, slomoa sire | WINDLOAD SPECIFICATION OPTION CODE 0237 319025 J




